LINEAR OPERATOR ON p-VALENT FUNCTION OF COMPLEX ORDER

ESSAM AQLAN and S. R. KULKARNI

Abstract. We introduce two novel families of meromorphic multivalent functions, by using linear operator and study some properties (inclusion properties, basic properties) of these families. We also determine the neighborhood of these subclasses.

MSC 2000. 30C45, 30C50.

Key words. Linear Operator, $\delta\text{-neighborhood},$ meromorphic multivalent function, inclusion properties.

1. INTRODUCTION AND DEFINITIONS

Let us denote by Σ_p the class of functions f(z) of the form

(1)
$$f(z) = z^{-p} + \sum_{n=1}^{\infty} a_n z^{n-p} (n \ge p, p \in \mathbb{N} = \{1, 2, 3, \ldots\})$$

which are analytic and *p*-valent in the annulus $U^* = \{z : 0 < |z| < 1, z \in \mathbb{C}\} = U \setminus \{0\}.$

We define the Hadamard product of the functions $f(z) \in \Sigma_p$ given by (1) and $g \in \Sigma_p$ given

$$g(z) = z^{-p} + \sum_{n=1}^{\infty} b_n z^{n-p} \ (p \in \mathbb{N})$$

as

$$(f * g)(z) = z^{-p} + \sum_{n=1}^{\infty} a_n b_n z^{n-p}.$$

For real or complex numbers a and $c \ (c \neq 0, -1, -2, ...)$, we define the function $\varphi_p(a, c; z)$ by

(2)
$$\varphi_p(a,c;z) = z^{-p} + \sum_{n=1}^{\infty} \frac{(a)_n}{(c)_n} z^{n-p},$$

where $(x)_n$ denotes the Pochhammer symbol defined by

$$(x)_n = \begin{cases} x(x+1)(x+2)\cdots(x+n-1), & n = 1, 2, 3, \dots \\ 1, & n = 0 \end{cases}$$

We define the linear operator $\mathcal{L}_p(a,c)$ on Σ_p by the convolution

(3)
$$\mathcal{L}_p(a,c)f(z) = \varphi_p(a,c;z) * f(z).$$

From (3) and (2), we can write

(4)
$$z(\mathcal{L}_p(a,c)f(z))' = a\mathcal{L}_p(a+1,c)f(z) - (a+p)\mathcal{L}_p(a,c)f(z).$$

Let f and F be two analytic functions in the unit disk U, we say that f is subordinate to F if there exists an analytic function w(z) with w(0) = 0 and $|w(z)| < 1(z \in U)$ such that f = F(w(z)). We denote by $f \prec F$ this subordination.

Let $H_{a,c}(p; A, B, b, \mu)$ denote the class of functions of the form (1) which satisfies the condition

(5)
$$p - \frac{1}{b} \left\{ \frac{z(\mathcal{L}_p(a,c)f(z))'}{\mathcal{L}_p(a,c)f(z)} + p \right\} \prec p - \mu p + p\mu \frac{1+Az}{1+Bz},$$

where $0 < \mu \le 1, a \in \mathbb{R}, c \in \mathbb{R} \setminus \{0, -1, -2, -3, \cdots\}, -1 \le B < A \le 1, p \in \mathbb{N}, b$ non-zero complex number.

DEFINITION. Let $N_{\delta}(f)$ denotes the δ -neighborhood of the function $f \in \Sigma_p$ of the form (1), that is

$$N_{\delta}(f) = \{h \in \Sigma_p : h(z) = z^{-p} + \sum_{n=1}^{\infty} b_n z^{n-p}\}$$

and

$$\sum_{n=1}^{\infty} \left(\frac{n(1+|B|) + p\mu|b|(A-B)}{p\mu|b|(A-B)} \right) \frac{(a)_n}{(c)_n} |a_n - b_n| \le \delta,$$

where

$$a > 0, c > 0, -1 \le B < A \le 1, \delta \ge 0 \}.$$

We denote by $H_{a,c}^+(p; A, B, b, \mu)$ the class of functions $f(z) \in H_{a,c}(p; A, B, b, \mu)$, and f(z) of the form

(6)
$$f(z) = z^{-p} + \sum_{n=p}^{\infty} |a_n| z^n \ (p \in \mathbb{N}).$$

Let $N_{\delta}^+(f)$ denotes the δ -neighborhood of the function $f \in \Sigma_p$ of the form (6), by

$$N_{\delta}^{+}(f) = \{g \in \Sigma_{p} : g(z) = z^{-p} + \sum_{n=1}^{\infty} |b_{n}|z^{n}\},\$$

and

$$\sum_{n=p}^{\infty} \left(\frac{\mu p(1-A)|b| + n(1-B)}{p\mu|b|(A-B)} \right) \frac{(a)_{n+p}}{(c)_{n+p}} ||a_n| - |b_n|| \le \delta_{n+p}$$

where $a > 0, \ c > 0, \ -1 \le \beta < A < 1, \ 0 < \mu \le 1, \delta \ge 0, b$ non-zero complex number.

We can re-write the condition (5) as

(7)
$$\left|\frac{z(\mathcal{L}_p(a,c)f(z))' + p\mathcal{L}_p(a,c)f(z)}{Bz(\mathcal{L}_p(a,c)f(z))' + [Bp(1-\mu b) + A\mu b]\mathcal{L}_p(a,c)f(z)}\right| < 1.$$

Also we note that the concept of δ -neighborhoods $N_{\delta}(f)$ of analytic functions f(z) was introduced by Ruscheweyh [6] and [2], but for meromorphic *p*-valent function studied by Liu and Srivastava [4]. In the present paper, we derive the generalization of the result by [4].

REMARK 1. (1) When we consider b = 1 and $\mu = 1$, $H_{a,c}(p; A, B, b, \mu)$ reduces to the class $H_{a,c}(p; A, B)$, which was studied by [4],

(2) When we consider a = 1, c = 1, b = 1, and $\mu = 1$, we get the class $H_{1,1}^+(p; A, B)$, which was investigated earlier by Mogra [5].

LEMMA 1. (Jack [3]). Let the function w(z) (non-constant) be analytic in U with w(0) = 0. If |w(z)| attains its maximum value on the circle |z| = r < 1 at a point $z_0 \in U$, then $z_0 w'(z_0) = \lambda w(z_0)$, when λ is a real number and $\lambda \ge 1$.

2. Some basic properties of the classes $H^+_{A,C}(P;A,B,B,\mu)$ and $H_{A,C}(P;A,B,B,\mu)$

In this section we consider a > 0, c > 0, $A + B \le 0$, where $(-1 \le B < A \le 1)$.

We start to derive the necessary and sufficient condition of the function in the class $H^+_{a,c}(p; A, B, b, \mu)$.

THEOREM 1. Let a function f(z) defined by (6) be in Σ_p . Then the function f(z) belongs to the class $H^+_{a,c}(p; A, B, b, \mu)$ if and only if

(8)
$$\sum_{n=p}^{\infty} [n(1-B) + p(1-B-\mu|b|(A-B))] \frac{(a)_{n+p}}{(c)_{n+p}} |a_n| \le p\mu|b|(A-B).$$

The result is sharp for the function f(z) given by

(9)
$$f(z) = z^{-p} + \left(\frac{p\mu|b|(A-B)}{n(1-B) + p(1-B-\mu|b|(A-B))}\right) \cdot \frac{(c)_{k+p}}{(a)_{k+p}} z^k$$

 $(k = p, p + 1, p + 2, \cdots, n \in \mathbb{N}).$

Proof. Assuming that the inequality (8) holds true then, from (8), we find that

$$\left| \frac{z(\mathcal{L}_{p}(a,c)f(z))' + p\mathcal{L}_{p}(a,c)f(z)}{Bz(\mathcal{L}_{p}(a,c)f(z))' + [Bp(1-\mu b) + Ap\mu b]\mathcal{L}_{p}(a,c)f(z)} \right|$$

$$\leq \frac{\sum_{n=p}^{\infty}(n+p)\frac{(a)_{n+p}}{(c)_{n+p}}|a_{n}|}{p\mu|b|(A-B) + \sum_{n=p}^{\infty}[B(n+p) + p\mu|b|(A-B)]\frac{(a)_{n+p}}{(c)_{n+p}}|a_{n}|} < 1$$

 $(z \in U, z \in \mathbb{C}, |z| = 1).$

Hence, by the Maximum Modulus Theorem we have $f(z) \in H^+_{a,c}(p; A, B, b, \mu)$.

Conversely, suppose that f(z) is in the class $H^+_{a,c}(p; A, B, b, \mu)$ with f(z) of the form (6), then we find, from (7), that

$$\left| \frac{z(\mathcal{L}_p(a,c)f(z))' + p\mathcal{L}_p(a,c)f(z)}{Bz(\mathcal{L}_p(a,c)f(z))' + [Bp(1-\mu b) + Ap\mu b]\mathcal{L}_p(a,c)f(z)} \right| = \frac{\sum_{n=p}^{\infty} \frac{(a)_{n+p}}{(c)_{n+p}} [n+p] |a_n| z^{n+p}}{p\mu |b|(A-B) + \sum_{n=p}^{\infty} [B(n+p) + p\mu b(A-B)] \frac{(a)_{n+p}}{(c)_{n+p}} |a_n| z^{n+p}} \right| < 1.$$

If we choose z to be real and $z \to 1^-$, we get

$$\sum_{n=p}^{\infty} \frac{(a)_{n+p}}{(c)_{n+p}} (n+p)|a_n| \le p\mu|b|(A-B) + \sum_{n=p}^{\infty} [B(n+p) + p\mu|b|(A-B)] \frac{(a)_{n+p}}{(c)_{n+p}}|a_n|$$

which is precisely the assertion (8) of Theorem 1.

Finally, we note that the assertion (8) of Theorem 1 is sharp, the extremal function being given by (9). This completes the proof of Theorem 1. \Box

Next, we derive the sufficient condition of function in the class

$$H_{a,c}(p; A, B, b, \mu)$$

in the next theorem also we omit the proof as in same line of proof of Theorem 1.

THEOREM 2. Let $f \in \Sigma_p$ be given by (1). Then the sufficient condition for f(z) be in the class $H_{a,c}(p; A, B, b, \mu)$, that satisfies the condition

$$\sum_{n=1}^{\infty} [n(1-B) - p\mu|b|(A-B)] \frac{(a)_n}{(c)_n} \le p\mu|b|(A-B)$$

THEOREM 3. If $f(z) \in H^+_{a,c}(p; A, B, b, \mu)$, then

$$|f^{(m)}(z)| \leq \left\{ \frac{(p+m-1)!}{(p-1)!} - \frac{(c)_{2p}}{(a)_{2p}} \left(\frac{\mu|b|(A-B)}{2(1-B) - \mu(|b|(A-B))} \right) \frac{p!}{(p-m)!} r^{2p} \right\} r^{-p-m},$$

(10)

(11)

$$|f^{(m)}(z)| \ge \left\{ \frac{(p+m-1)!}{(p-1)!} + \frac{(c)_{2p}}{(a)_{2p}} \left(\frac{\mu|b|(A-B)}{2(1-B) - \mu(|b|(A-B))} \right) \frac{p!}{(p-m)!} r^{2p} \right\} r^{-p-m}$$

 $(0 < |z| = r < 1, a > c > 0, m \in \mathbb{N}_0, p > m, 0 < \mu \le 1, -1 \le B < A \le 1, b$ complex number.)

The result is sharp for the function f(z) given by

(12)
$$f(z) = z^{-p} + \left(\frac{\mu|b|(A-B)}{2(1-B) - \mu|b|(A-B)}\right) \frac{(c)_{2p}}{(a)_{2p}} z^p \ (p \in \mathbb{N})$$

Proof. Suppose that $f(z) \in H^+_{a,c}(p; A, B, b, \mu)$, then we find, from (8), that

$$\frac{(a)_{2p}}{(c)_{2p}} \cdot \frac{p[2(1-B) - \mu|b|(A-B)]}{p!} \sum_{n=p}^{\infty} n!|a_n|$$

$$\leq \sum_{n=p}^{\infty} [n(1-B) + p(1-B - \mu|b|(A-B))] \frac{(a)_{n+p}}{(c)_{n+p}} |a_n| \leq p\mu|b|(A-B).$$

We conclude that

(13)
$$\sum_{n=p}^{\infty} n! |a_n| \le \left(\frac{\mu |b|(A-B)}{2(1-B) - \mu |b|(A-B)}\right) \frac{(c)_{2p}}{(a)_{2p}} p!.$$

If we differentiate both sides of (6) m times with respect to z, we get

(14)

$$f^{(m)}(z) = (-1)^{m} \frac{(p+m-1)!}{(p-1)!} z^{-p-m} + \sum_{n=p}^{\infty} \frac{n!}{(n-m)!} |a_{n}| z^{n-m}$$

$$(m \in \mathbb{N}_{0}, p \in \mathbb{N}, p > m)$$

$$= (-1)^{m} \frac{(p+m-1)!}{(p-1)!} z^{-p-m} + \sum_{n=p}^{\infty} n! \varphi(n) |a_{n}| z^{n-m},$$

where, for convenience,

$$\varphi(n) = \frac{1}{(n-m)!} \ (p \in \mathbb{N}, m \in \mathbb{N}_0, n \ge p, m < p).$$

Clearly, the function $\varphi(n)$ is decreasing in n, and we have

(15)
$$0 < \varphi(n) \le \varphi(p) = \frac{1}{(p-m)!}$$

Making use of (13), (14) and (15), we get (10) and (11).

In order to complete the proof of Theorem 3, it is easily observed the equalities in (10) and (11) are satisfied by the function f(z) given by (12).

THEOREM 4. Let the function f(z) defined by (6) be in the class

$$H^+_{a,c}(p;A,B,b,\mu).$$

Then

(i) f is meromorphically p-valent starlike of order $\delta(0 \le \delta < p)$ in the disk $|z| < r_1$, where

(16) =
$$\inf_{n \ge p} \left(\frac{(a)_{n+p}}{(c)_{n+p}} \cdot \frac{n(1-B) + (1-B-\mu|b|(A-B))}{\mu|b|(A-B)} \cdot \frac{(p-\delta)}{n+\delta} \right)^{\frac{1}{n+p}}$$

(ii) f is meromorphically p-valent convex of order $\delta(0 \le \delta < p)$ in the disk $|z| < r_2$, where

$$r_{2} = r_{2}(p; A, B, b, \mu; \delta)$$

=
$$\inf_{n \ge p} \left(\frac{(a)_{n+p}}{(c)_{n+p}} \cdot \frac{p(p-\delta)(n(1-B) + (1-B-\mu|b|(A-B)))}{n(n+\delta)\mu|b|(A-B)} \right)^{\frac{1}{n+p}}$$

Proof. (i) Making use of the definition (6), it is not difficult to observe that

(17)
$$\left| \frac{zf'(z) + pf(z)}{zf'(z) + (2\delta - p)f(z)} \right| \le \frac{\sum_{n=p}^{\infty} (n+p)|a_n||z|^{n+p}}{2(p-\delta) - \sum_{n=p}^{\infty} (n+p+2\delta)|a_n||z|^{n+p}} \le 1$$

 $(|z| < r_1; 0 \le \delta < 1).$

This last inequality (17) holds true if

$$\sum_{n=p}^{\infty} \left(\frac{n+\delta}{p-\delta}\right) |a_n| |z|^{n+p} \le 1.$$

In view of (8), the last inequality is true if

$$\begin{pmatrix} \frac{n+\delta}{p-\delta} \end{pmatrix} |z|^{n+p} \le \left(\frac{n(1-B) + p(1-B-\mu|b|(A-B))}{\mu|b|(A-B)} \right) \frac{(a)_{n+p}}{(c)_{n+p}}$$
$$(n \ge p, p \in \mathbb{N})$$

which, when solved for |z|, yields (16).

(ii) Making use of the definition (6), it is easy to observe that (18)

$$\left|\frac{zf''(z) + (1+p)f'(z)}{zf''(z) + (1-p+2\delta)f'(z)}\right| \le \frac{\sum_{n=p}^{\infty} n(n+p)|a_n||z|^{n+p}}{2p(p-\delta) - \sum_{n=p}^{\infty} n(n-p+2\delta)|a_n||z|^{n+p}} \le 1$$

$$(z < r_0, 0 \le \delta < 1)$$

 $(z < r_2, 0 \le \delta < 1).$

The last inequality (18) holds true if

(19)
$$\sum_{n=p}^{\infty} \left(\frac{n(n+\delta)}{p(p-\delta)} \right) |a_n| \cdot |z|^{n+p} \le 1.$$

According to Theorem 3, the inequality (19) is true if

$$\left(\frac{n(n+\delta)}{p(p-\delta)}\right)|z|^{n+p} \le \left(\frac{n(1-B) + p(1-B-\mu|b|(A-B))}{\mu|b|(A-B)}\right) \cdot \frac{(a)_{n+p}}{(c)_{n+p}}$$
$$(n \ge p, p \in \mathbb{N})$$

or if

(20)
$$|z| \le \left(\frac{(a)_{n+p}}{(c)_{n+p}} \cdot \frac{n(1-B) + p(1-B-\mu|b|(A-B))}{\mu|b|(A-B)} \frac{p(p-\delta)}{n(n+\delta)}\right)^{\frac{1}{n+p}}.$$

The theorem follows easily from (20).

3. Inclusion properties of the class $H_{A,C}(P; A, B, B, \mu)$

In this section we make use of the Jack's Lemma to prove the theorems in this section.

THEOREM 5. Let $a \geq \frac{p\mu|b|(A-B)}{1+B}$, then we have

$$H_{a+1,c}(p; A, B, b, \mu) \subset H_{a,c}(p; A, B, b, \mu),$$

where $-1 \leq B < A \leq 1$, $0 < \mu \leq 1$, $a \in \mathbb{R}$, $c \in \mathbb{R} \setminus \{0, -1, -2, \ldots\}$, $p \in \mathbb{N}$, b a (non-zero) complex number.

Proof. Suppose $f \in H_{a+1,c}(p; A, B, b, \mu)$, and

(21)
$$\frac{z(\mathcal{L}_p(a,c)f(z))'}{\mathcal{L}_p(a,c)f(z)} = -p\left(1-\mu|b|+\mu|b|\cdot\frac{1+Aw(z)}{1+Bw(z)}\right)$$

for some either analytic or meromorphic function w(z) in U, with w(0) = 0. From (21) and (4) we get

(22)
$$\frac{a\mathcal{L}_p(a+1,c)f(z)}{\mathcal{L}_p(a,c)f(z)} = \frac{a + [aB - p\mu|b|(A-B)]w(z)}{1 + Bw(z)}$$

differentiating logarithmically both sides of (22) we get

$$\frac{z(\mathcal{L}_{p}(a+1,c)f(z))'}{\mathcal{L}_{p}(a+1,c)f(z)} = \frac{z(\mathcal{L}_{p}(a,c)f(z))'}{\mathcal{L}_{p}(a,c)f(z)} + \frac{(aB - p\mu|b|(A - B))zw'(z)}{a + [aB - p\mu|b|(A - B)]w(z)} \\ -\frac{Bz'w(z)}{1 + Bw(z)} = -p\left[\frac{1 + (B + \mu|b|(A - B))w(z)}{1 + Bw(z)}\right]$$
(23)
$$-\frac{p\mu|b|(A - B)zw'(z)}{(1 + Bw(z))[a + (aB - p\mu|b|(A - B))w(z)]}.$$
Suppose that there exists a point $z \in U$ such that

Suppose that there exists a point $z_0 \in U$ such that

$$\max_{|z| \le |z_0|} |w(z)| = |w(z_0)| = 1, \ (w(z_0) \ne -1),$$

then Jack's Lemma gives us that

$$z_0 w'(z_0) = k w(z_0), \ (k \ge 1).$$

Now setting $w(z_0) = e^{i\theta} (\theta \neq \pi)$ in (23) we get

$$\left|\frac{z_0(\mathcal{L}_p(a,c)f(z_0))' + p\mathcal{L}_p(a,c)f(z_0)}{Bz_0(\mathcal{L}_p(a,c)f(z_0))' + [Bp(1-\mu b) + Ap\mu b]\mathcal{L}_p(a,c)f(z_0)}\right|^2 - 1$$

= $\left|\frac{-p(a+k) + [aB - p\mu b(A-B)]e^{i\theta}}{a + [aB - kB - p\mu b(A-B)]e^{i\theta}}\right|^2 - 1$
\geq $\left|\frac{(a+k) + [aB - p\mu b(A-B)]e^{i\theta}}{a + [aB - k - p\mu b(A-B)]e^{i\theta}}\right|^2 - 1$

But we have contradiction with the condition of the theorem.

Therefore we have |w(z)| < 1, and by (21) we get $f \in H_{a,c}(p; A, B, b, \mu)$.

This completes the proof.

THEOREM 6. Let the function f(z) defined by (1) be in the class

 $H_{a,c}(p; A, B, b, \mu).$

Then the function g(z) defined by

(24)
$$\mathcal{L}_p(a,c)g(z) = \left(\frac{\lambda - p\alpha}{z^{\lambda}}\right) \int_0^z t^{\lambda - 1} [\mathcal{L}_p(a,c)f(t)]^{\alpha} \mathrm{d}t]^{1/\alpha}$$

 $\begin{array}{l} (\textit{where } \alpha > 0, \lambda > p\alpha \cdot \left(\frac{1 + [B + \mu | b | (A - B)]}{1 + B} \right) > 0, p \in \mathbb{N}) \textit{ is also in same class } \\ H_{a,c}(p; A, B, b, \mu). \end{array}$

Proof. Let $f \in H_{a,c}(p; A, B, b, \mu)$, and

(25)
$$\frac{z(\mathcal{L}_p(a,c)g(z))'}{\mathcal{L}_p(a,c)g(z)} = -p\left(1-\mu|b|+\mu|b|\cdot\frac{1+Aw(z)}{1+Bw(z)}\right)$$

for some either analytic or meromorphic function w(z) in U, with w(0) = 0. From (6), we have

(26)
$$[\mathcal{L}_p(a,c)g(z)]^{\alpha} = \frac{\lambda - p\alpha}{z^{\lambda}} \int_0^z t^{\lambda-1} [\mathcal{L}_p(a,c)f(t)]^{\alpha} \mathrm{d}t$$

Differentiating logarithmically both sides of (26), and after some computation, we get

(27)
$$\frac{z(\mathcal{L}_p(a,c)g(z))'}{\mathcal{L}_p(a,c)g(z)} = -\frac{\lambda}{\alpha} + \frac{\lambda - p\alpha}{\alpha} \left[\frac{\mathcal{L}_p(a,c)f(z)}{\mathcal{L}_p(a,c)g(z)}\right]^{\alpha}$$

then from (25) and (27), we have

$$\frac{\lambda(\mathcal{L}_p(a,c)f(z))^{\alpha} + (\alpha p - \lambda)(\mathcal{L}_p(a,c)f(z))^{\alpha}}{(\mathcal{L}_p(a,c)g(z))^{\alpha}}$$
$$= \alpha p \left[\frac{1 + (B + \mu|b|(A - B))w(z)}{1 + Bw(z)}\right].$$

Differentiating both sides of last equality, and from (25) and (27), we get

(28)
$$\frac{z(\mathcal{L}_{p}(a,c)f(z))'}{\mathcal{L}_{p}(a,c)f(z)} = \frac{p(1+[B+\mu|b|(A-B)]w(z))}{\alpha p(1+[B+\mu|b|(A-B)]w(z) - \lambda(1+Bw(z)))} \times \left[\lambda - \alpha p\left\{\frac{(1+[B+\mu|b|(A-B)]w(z) + Bzw'(z)}{1+Bw(z)}\right\} + \frac{[B+\mu|b|(A-B)]zw'(z)}{1+[B+\mu|b|(A-B)]w(z)}\right].$$

Suppose that there exists a point $z_0 \in U$ such that

$$\max_{|z| \le |z_0|} |w(z)| = |w(z_0)| = 1, \ (w(z_0) \ne -1),$$

then by Jack's Lemma $z_0w'(z_0) = kw(z_0)$, $(k \ge 1)$. Now letting $w(z_0) = e^{i\theta}(\theta \ne \pi)$, in (28), we get

$$\left|\frac{z_0(\mathcal{L}_p(a,c)f(z_0))' + p\mathcal{L}_p(a,c)f(z_0)}{Bz_0(\mathcal{L}_p(a,c)f(z_0))' + [Bp(1-\mu b) + pA\mu b]\mathcal{L}_p(a,c)f(z_0)}\right|^2 - 1$$
$$= \left|\frac{\lambda + k - \alpha p + [B\lambda - \alpha p(B + \mu b(A - B))]e^{i\theta}}{\lambda - \alpha p + [B\lambda - Bk - \alpha p[B + \mu b(A - B)]e^{i\theta}}\right|^2 - 1$$
$$(29) \qquad = \frac{q(\theta)}{|\lambda - \alpha p + (B\lambda - Bk - \alpha p(B + \mu |b|(A - B)e^{i\theta}|^2)},$$

where

$$q(\theta) = k^{2}(1-B^{2}) + 2k[(1+B^{2})\lambda - \alpha p(1+B(B+\mu|b|(A-B)))] + 2k[2B\lambda - \alpha p(2B+\mu|b|(A-B))\cos\theta,$$

where $0 \le \theta < 2\pi, -1 \le B < A \le 1, k \ge 1, 0 < \mu \le 1, b$ a complex number, by hypothesis we have $\lambda \ge p\alpha \frac{1+[B+\mu|b|(A-B)]}{1+B} > p\alpha \frac{1-[B+\mu|b|(A-B)]}{1-B}$. Therefore (30) $q(\theta) \ge 0$ and $q(\pi) \ge 0$.

Hence, from (30), we obtain

(31)
$$q(\theta) \ge 0 \ (0 \le \theta < 2\pi).$$

In view of (31) and (29), we get contradiction with the condition of the theorem that $f \in H_{a,c}(p, A, B, b, \mu)$. Therefore we have |w(z)| < 1, and by (21) we get $g(z) \in H_{a,c}(p; A, B, b, \mu)$. This completes the proof.

4. NEIGHBORHOOD OF THE CLASSES $H_{A,C}(P; A, B, B, \mu)$ and $H^+_{A,C}(P; A, B, B, \mu)$

We start to prove the neighborhood of the class $H_{a,c}(p; A, B, b, \mu)$.

THEOREM 7. Let the function f(z) defined by (1) be in $H_{a,c}(p; A, B, b, \mu)$. For all ϵ in \mathbb{C} with $|\epsilon| < \delta$, let

$$\frac{f(z) + \epsilon z^{-p}}{1 + \epsilon} \in H_{a,c}(p; A, B, b, \mu),$$

then

 $N_{\delta}(f) \subset H_{a,c}(p; A, B, b, \mu) \ (\delta > 0).$

Proof. Let $g \in H_{a,c}(p; A, B, b, \mu)$, then from (1.7), we can write, for $(\gamma \in \mathbb{C}, |\gamma| = 1)$, that

(32)
$$\left[\frac{z(\mathcal{L}_p(a,c)g(z))' + p\mathcal{L}_p(a,c)g(z)}{Bz(\mathcal{L}_p(a,c)g(z))' + [Bp(1-\mu|b|) + Ap\mu|b|]\mathcal{L}_p(a,c)g(z)}\right] \neq \gamma.$$

Let

$$h(z) = z^{-p} + \sum_{n=1}^{\infty} c_n z^{n-p}.$$

In view of (32), we can write

(33)
$$h(z) = z^{-p} + \sum_{n=1}^{\infty} \left(\frac{n(1-\gamma B) - p\gamma\mu|b|(A-B)}{\gamma p\mu|b|(A-B)} \right) \frac{(a)_n z^{n-p}}{(c)_n}.$$

From (33), we obtain

$$|c_n| = \left| \left(\frac{n(1 - \gamma B) - p\gamma\mu|b|(A - B)}{\gamma p\mu|b|(A - B)} \right) \frac{(a)_n}{(c)_n} \right| \le \frac{\mu|b|p(A - B) + n(1 + |B|)}{p\mu|b|(A - B)}$$

where $n \ge p, p \in \mathbb{N}$.

Now we can write (32) as

(34)
$$\frac{(g*h)(z)}{z^{-p}} \neq 0 \ (z \in U)$$

By the condition of the theorem, (34) reduced to

$$\frac{1}{z^{-p}} \cdot \frac{(f*h)(z) + \epsilon z^{-p}}{1+\epsilon} \neq 0, \text{ or } \left| \frac{(f*g)(z)}{z^{-p}} \right| \ge \delta.$$

Let

$$g(z) = z^{-p} + \sum_{n=1}^{\infty} b_n z^{n-p} \in N_{\delta}(f),$$

then

$$\left|\frac{(g*h)}{z^{-p}}\right| = \left|\frac{f*h}{z^{-p}} + \frac{(g-f)*h}{z^{-p}}\right| \ge \delta - \left|\frac{(g-f)*h}{z^{-p}}\right|.$$

But we have

$$\left| \frac{(g-f)*h}{z^{-p}} \right| = \left| \sum_{n=1}^{\infty} (a_n - b_n) c_n z^n \right|$$

$$\leq |z| \sum_{n=1}^{\infty} \left(\frac{p\mu |b| (A-B) + n(1+|B|)}{p\mu |b| (A-B)} \right) \frac{(a)_n}{(c)_n} |a_n - b_n| \leq \delta \ (z \in U, \delta > 0).$$

From (34) and (32), we get $g \in H_{a,c}(p; A, B, b, \mu)$, so $N_{\delta} \subset H_{a,c}(p; A, B, b, \mu)$. This completes the proof.

THEOREM 8. Let f(z) be defined by (1), and let the partial sums $S_1(z)$ and $S_k(z)$ are defined by $S_1(z) = z^{-p}$ and

$$S_k(z) = z^{-p} + \sum_{n=1}^{k-1} a_n z^{n-p} \ (k \in \mathbb{N}, k > 1).$$

Also suppose that

(35)
$$\sum_{n=1}^{\infty} \left(\frac{p\mu|b|(A-B) + n(1+|B|)}{p\mu|b|(A-B)} \right) \frac{(a)_n}{(c)_n} \le 1.$$

If a > 0 and c > 0, then $f(z) \in H_{a,c}(p; A, B, b, \mu)$, and if a > c > 0, then

(36)
$$R\left(\frac{f(z)}{S_k(z)}\right) > 1 - \frac{1}{d_k} \ (z \in U, \ k \in \mathbb{N}),$$

and

(37)
$$R\left(\frac{S_k(z)}{f(z)}\right) > \frac{d_k}{1+d_k} \ (z \in U, k \in \mathbb{N}).$$

Each of (36) and (37) is the best possible for $kn \in \mathbb{N}$.

Proof. By applying Theorem 7 and from (35), we get

$$N_1(z^{-p}) \in H_{a,c}(p; A, B, b, \mu) \ (a > 0, \ c > 0, \ p \in \mathbb{N}),$$

where $z^{-p} \in H_{a,c}(p; A, B, b, \mu)$ (from (7)). Thus $f \in H_{a,c}(p; A, B, b, \mu)$. Now, from (35), we find that

(38)
$$\sum_{n=1}^{k-1} |a_n| + d_k \sum_{n=k}^{\infty} |a_n| \le \sum_{n=1}^{\infty} d_n |a_n| \le 1 \text{ (as } d_{n+1} > d_n > 1).$$

Setting

$$h_1(z) = d_k \left\{ \frac{f(z)}{S_k(z)} - \left(1 - \frac{1}{d_n}\right) \right\}$$

= $d_k \left\{ \frac{z^{-p} + \sum_{n=k}^{\infty} a_n z^{n-p}}{z^{-p} + \sum_{n=1}^{k-1} a_n z^{n-p}} - 1 + \frac{1}{d_k} \right\} = \frac{d_k \sum_{n=k}^{\infty} a_n z^n}{1 + \sum_{n=1}^{k-1} a_n z^n} + 1,$

from (38), we get

$$\begin{aligned} \frac{h_1(z) - 1}{h_1(z) + 1} \middle| &= \frac{d_k \sum_{n=k}^{\infty} a_n z^n}{2 + 2 \sum_{n=1}^{k-1} a_n z^n + d_k \sum_{n=k}^{\infty} a_n z^n} \\ &\leq \frac{d_k \sum_{n=k}^{\infty} |a_n|}{2 - 2 \sum_{n=1}^{k-1} |a_n| - d_k \sum_{n=k}^{\infty} |a_n|} \leq \frac{d_k \sum_{n=1}^{\infty} |a_n|}{1 - \sum_{n=1}^{k-1} |a_n|} \leq 1. \end{aligned}$$

This proves (36).

To prove that the bound in (36) is the best possible for each $k \in \mathbb{N}$, set $f(z) = z^{-p} - \frac{z^{k-p}}{d_k}$. Then

(39)
$$\frac{f(z)}{S_k(z)} = 1 - \frac{z^k}{d_k}.$$

When $z \to 1$, (39) reduces to $(1 - 1/d_k)$, which proves the assertion of the theorem.

Now, in the same way we can prove (37), by setting

$$g(z) = (1 + d_k) \left(\frac{S_k(z)}{f(z)} - \frac{d_k}{1 + d_k} \right).$$

This completes the proof.

THEOREM 9. Let the function f(z) defined by (6) be in the class

Ì

$$H_{a,c}^+(p;A,B,b,\mu),$$

and $A + B \leq 0$, then

$$N^+_{\delta}(f) \subset H^+_{a,c}(p; A, B, b, \mu),$$

where $\delta := \frac{2p}{a+2p}$. The result is sharp.

Proof. We can prove this theorem in the same way as Theorem 7, with

$$h(z) = z^{-p} + \sum_{n=p}^{\infty} c_n z^n$$

= $z^{-p} + \sum_{n=p}^{\infty} \left[\frac{(n+p)(1-\gamma B) - \gamma p \mu |b|(A-B))}{\mu |b| p \gamma (B-A)} \frac{(a)_{n+p}}{(c)_{n+p}} z^n \right],$

and for $A + B \leq 0$ and $f \in H^+_{a,c}(p; A, B, b, \mu)$, we have

$$\left|\frac{(f*h)(z)}{z^{-p}}\right| \ge \frac{2p}{a+2p} = \delta.$$

Next, to prove the sharpness, let f(z) and g(z) given by

$$f(z) = z^{-p} + \left(\frac{\mu|b|(A-B)}{2-2B-\mu|b|(A-B)}\right) \frac{(c)_{2p}}{(a+1)_{2p}} z^p \in H^+_{a,c}(p;A,B,b,\mu)$$

and g(z) =

$$z^{-p} + \left[\frac{\mu|b|(A-B)}{2-2B-\mu|b|(A-B)} \cdot \frac{(c)_{2p}}{(a+1)_{2p}} + \frac{\mu|b|\delta'(A-B)}{2-2B-\mu|b|(A-B)} \cdot \frac{(c)_{2p}}{(a)_{2p}}\right] z^{p},$$

where $\left(\delta' > \delta = \frac{2p}{a+2p}\right)$, we get $g(z) \in N_{\delta}^{+}(f)$ but $g(z) \notin H_{a,c}^{+}(p;A,B,b,\mu).$

REFERENCES

- CARLSON, B. C. and SHAFFER, D. B., Starlike and prestarlike hypergeometric function, SIAM J. Math. Anal., 15 (1984), 737–745.
- [2] GOODMAN, A. W., Univalent functions and nonanalytic curves, Proc. Amer. Math. Soc., 8 (1957), 598–601.
- [3] JACK, I. S., Functions starlike and convex of order α, J. London Math. Soc., (2) 3 (1971), 469–474.
- [4] LIU, JIN-LIN and SRIVASTAVA, H. M., A linear operator and Associated families of meromorphically multivalent functions, J. Math. Anal. and Appl., 259 (2001), 566–581.
- [5] MOGRA, M. L., Meromorphic multivalent functions with positive coefficients, I and II, Math. Japon., 35 (1990), 1–11, 1089–1098.
- [6] RUSHEWEYH, S., Neighborhoods of univalent functions, Proc. Amer. Math. Soc., 81 (1981), 521–527.

[7] SRIVASTAVA, H. M. and OWA, S., Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions, Hadamard product, linear operators, and certain subclasses of analytic functions, Nagoya Math. J., 106 (1987), 1–28.

Received Octomber 17, 2000

Department of Mathematics, Fergusson College, Pune - 411004, India E-mail: kulkarni_ferg@yahoo.com E-mail: essam_aqlan@yahoo.com